
FEIN – GI-100-EF Erstzeile 
 
 
 

 



Pos.  Best.-Nr.  Benennung Stück  

 
10 39000000117 Schalter 230V50-60Hz 1 

 
15 39000000118 Schalter 230V50-60Hz 1 

 
20 39000000114 Motor 1,1KW 3000 RPM 1 

 
25 43041040048 Linsenschraube 4 

 
30 39000000080 Feder 1 

 
40 39000005130 Augenschutz 1 

 
50 39000000121 Flügel 1 

 
60 39000000122 Haube 1 

 
70 39000000055 Gasdruckfeder 1 

 
80 39000000054 Bolzen M8X16 2 

 
90 39000000529 Schraube 2 

 
95 39000005826 Griff 2 

 
100 39000000052 Bolzen M8X35 1 

 
110 39000000051 Schraube 1 

 
120 39000000050 Schraube 1 

 
130 39000000111 Schraube 3 

 
140 39000000099 Schraube 1 

 
150 39000005045 Graphitbelag 105x185 mm 1 

 
165 39000001161 Schraube 1 

 
180 39000004889 Gehäuse 1 

 
190 39000004890 Deckel 1 

 
200 39000000018 Planschleiftisch 1 

 
210 39000004887 Winkel 1 

 
220 39000004886 Deckel 1 

 
230 39000000021 Flansch 1 

 
240 39000000024 Buchse 7 

 
250 39000000023 Justiereinheit 1 

 
260 39000001208 Hebel 1 

 
280 39000004885 Schleifarm 1 

 
290 39000000032 Buchse 1 

 
300 39000000033 Spannarm 1 

 
310 39000004888 Augenschutz 1 

 
320 39000000037 Ring 1 

 
340 39000003743 Handgriff 5 

 
350 39000000086 Griff 1 

 
360 39000000097 Griff 1 

 
370 39000000047 Mutter 2 

 
380 39000000046 Mutter 1 

 
400 39000000044 Mutter 2 

 
410 39000000043 Bolzen M6X11 1 

 
420 39000000087 Riegel 1 

 
430 39000006362 Scheibe 1 

 
490 39000004268 Scheibe 1 

 
510 39000000089 Tellerfeder 8,2x0,9 mm 1 

 

https://etk.fein.de/spc/index.php?r=item%2Flist&id=9859&sort=-bom_position
https://etk.fein.de/spc/index.php?r=item%2Flist&id=9859&sort=articlenr
https://etk.fein.de/spc/index.php?r=item%2Flist&id=9859&sort=itemname
https://etk.fein.de/spc/index.php?r=item%2Flist&id=9859&sort=bom_quantity


Pos.  Best.-Nr.  Benennung Stück  

 
530 39000000041 Schraube 4 

 
540 39000000040 Flachkopfschraube 1 

 
550 39000000541 Blechschraube 3 

 

560 

39000000011 

 

39000000311 

Kontaktscheibe 120x100 mm 

 

Kontaktscheibe 120x100 mm 

1 
 

570 

39000000092 

 

39000000292 

Antriebsscheibe 

 

Antriebsscheibe 

1 
 

590 39000000479 Schalterklappe 1 
 

600 39000000145 Bolzen M8X35 3 
 

610 39000000048 Schraube 1 
 

620 39000001064 Federring D6 1 
 

680 39000005293 Motor-Kondensator für GI100EF 1 
 

690 39000000540 Dichtung 1 
 

700 39000001139 Schraube 1 
 

705 39000000720 Mutter 3 
 

710 39000001138 Schraube 3 
 

810 39000006110 Schild 1 
 

820 39000006100 Schild 1 
 

 

https://etk.fein.de/spc/index.php?r=item%2Flist&id=9859&sort=-bom_position
https://etk.fein.de/spc/index.php?r=item%2Flist&id=9859&sort=articlenr
https://etk.fein.de/spc/index.php?r=item%2Flist&id=9859&sort=itemname
https://etk.fein.de/spc/index.php?r=item%2Flist&id=9859&sort=bom_quantity

